| N of simulated tracks vs dxy |

TrackingParticles

10*

10°

10?

........................................................................

.....................................................................

0.95

)E-20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

Ratio

=
o
N

10k

1.4

O ———

1
0.95
0.9

)

0-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

TrackingParticles

—=— DQM_TT__mkFit-DQM_original-0
N of simulated trac —— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_updated-127

10°E

10°

........................................................................

........................................................................

10

20730
TP dz (cm)

Reconstructed TPS

=
o
I

10 2030
TP dz (cm)



	Contents
	Page 1


